%

%

L"#$




! #9$

% & & ' 0 ¥

) ") +
/ (

) ! - #
T 0012 -$ -*
C3(% & 4) +3
C( 0 ), 3 3#

( 3% 3+










% -./0
» 0 ,
& 0 5
& & &
&
6
6 ) /, 6/ & &6 6
& , 6 / & 5 / /
<I%7 C< 7 ! % |/
7 D ] 0/ C 0 /I D
' " & & & I & &
/ & : / & & &
& / 6 & & |/
B : . ; ;
76 &

0 )3 %$)"$ & 1 "#" $,"&"& ($# ) ""$
(&% & $2 (,"&$ $(!3 (¢ 4 5

6 &

0 & $#"$$677% *68 $!"
"%* "%*9 "3 $ &" /5




'$, $% ) $*

0]

$"$("&""&* $
T01%) 2 $#"S$
$ "# " ("& )$"
")*& "1 *'& (3!

$ (% "9 " &$,"& - "2 (
3& " "& $

$(%$"& &
1, "5

J(" (%3

&
&

6
& 79

"$

$ "H# & $H"S NS &9)
V&S "% " & $2
"% "$ 'S8 #* )"
#.$2 "8 & "$("$(
TS $ * 28 e
P 5




" $% *)+$

§ %y o

NS +BI& &) (& #

>/

& & & , |/ ! ’ |

6, 6, &

6 .66&, % & ’ °
6 & 6 ' ! “ y -

& & .
’& < , 6 // ! 6 & 6/
) 4
/ /

. <
1 /| C3--3-3D 6 *FG

0 (4
& -FG $F

(4 ; / C3.--3-3D 6
-$F&  #3FG  $F

/& 6 56 5/



/5




&/

STITUTE, N”

Sudhin

X
) . % / 5 / 6 ,
% %0 , I % hoe °
6 ) &
< 5=A /
%,
& 3
& &
6 6 5 &
6
6 7:5<:
5 | 5 85 ) 65
52 5 6
, / 6/
& /,
1
& > )
79 /& &
o & ’ |
& 6 & & 6/ . & /
5 5 & °



, 5 6 vy & & / & |/
6/ 6 I 6/ 5 /
6 5 6 5 . 1
/& 6 6 .
, & / $
70 . @
+ g -2
4 5@ 6/ , 6 &
' 6 G I : "
: o &(
, & 6 6 & . &/
, 6 / A6 / wo
2 & 5 1/ 6 6 5 /6
/ 0 , &
/6 ,
I 6 /
/
/

"SI $% &+ 28I (S & (& 1'$ " $%"& ($!



6 # %) (& +3

D (@'"s$
! ! ! 6
Il 1 6
< 1 / 6 (
("" & )
# (. ( &
2 , " 6 9 6/
&
$$ &
) #oo+ & K7
R / /
6
$ "$ &
BT %l ()& ) HI(T
7 6 NS 'S &
)$+) e * / 5& 5 6
$!' % Y( %)
‘ 6 &
; &
&
"$"2"$"& ,)2
& $H""$ &
! 7
) 6 5
A) +8 $('& ! &
I (@!'"$
7 8 ! ! ! 6
1 I 6
%
&6 & & & 4 C D
& / /, & & /6 19
& 6 6 / / -5
35 -#5-* 2 / &
/G , ! & / /



/> & & & (
15, $"&* & '$'9
/ 6 & . /
/ & 5 / &
& & $ & & (,9) % 9 ! [ 9
/> & & / , &
/ /& 6 / & 9
/& &
"& '&*  )BH#) "IN .$) " " $ "&*)$# % *9
& > & & 6
/& & &
& , 6/ 6 / , )
49 0 / / /
*$! *)Y$#) " & TSI H % $) 9
, & & & /I & & 6 !,
& / & / / /
& [ / > & / 6 /
6 [/ < 6
C% D 5@: 16 |/ &
& & , , I & & [ 3.
& , <) 6/,
& & " , , & 5 5
[/ 5 6/,&
$*P1"& 2"&""& (2 (" "% ) L S THEY)Y"S) 9
)" 3 5 : 5 |/
/ & % 6/,&
& & / &
& , & % &
/
8 & & & 6 /
/ & 5 1 6
/ 6/
, / 6 &
6 < /5 / 5 5
, & )6 [/ 61/
& 6 6
< 1%7 , , b / & &
5 1 &
/
0 & * 1 ( $% # 3( $9
)" C% D & 5 / & -B P& +*
6 ' / , $# ) "%$ &

$2 $% %$) '$



& 6 L 5= 8
., & o & & , & 5 .
6 &
e g *g
< 16 < C% D & , &
486 .9 & & 6 /6 6 %(
& 5 5 6 y &
& & A A & & |/ , & 5
2 ' & AB A / / /
A A & 6 & & AB A
A & & , , % & & /

C)y)"( +$ (&"
D (@"$

""E $% *)+$

$ D +! .D
/ +$(&" 4 2"




!, 6
& &
/, & 6 6 | &
/ 7.5 > |/ / 6 &
< 9 5@ / 6/ /! 6 |/
/5 & /| 6 & /& &
, & 6 ,
/ & 6
/ , 6 6
6
, / / , 7
6 , /!, 7
(0 (KK&&& K , D
) D
, 7
& -5 3.-
/5 5 6 /5
5 6 '
,, 6/5
9 5 6 /
3 6/ 6
/ /
6 > &

4& +#
7 ) M 5 =
& ' . 6
' 6
; 6 6, / 6
& , 1 & " %0
6 / 6
(KK&&& K

3 (KK&&& ' KK K



$1()2""& $%"& $( $%

1& "&*
6/ 6 4 6/
’ iR} 6 ) 6 4&6
& ' / 6 , ’
& &
y 6 & &
’ 1 6 0 6
</ && : 6 6
6 7 / , 6

(1) ) %) $%s4

%0 , | 5< 4 5
, , 11 ; / &
6 ' 5 / ,
6 o . & & ,
& /| & 6 5& & & & 6
/ , 6 6 (
' , & & 6 8 & &
6 /| 79 & 6 6 / & /
rr K 5 & & 6
5 .5

/16 & | 6




04 50) <
7 6/ &
& , O
7))
% /@
&
, @ !/,
M OA 15& &
2 6 ,
56 / &
5 6 575
9 5 6
& / /
& 6
& , b
-E*- %6
4
) ,
&
<' < /!,
1 L %6 )
6 ,)
D/ N -+E-
, 9
I @)
6
/ , &
, 1,

0 -EEE
, 06 7
6

6/ 6 5
61
4&6 5
1'1 H
06 2 @
5
& ,& 5
6 , & 5 &
& , &

0 ), 5
/
@2 < 48& 0
% & /,
2 -E#-5 &
/ A
5 5
/ 6 :
& 569 / &
& 9 / &
‘E$. *5
& &
8 < 5< "" 7
6 /
, /
& 6
E
& , & 6
6
& /| @ 6 @C:
/& , :
I, 5
O D -EE5 &
5 9 &5 ,
5 & & & & 6
7 &
/5 &
< 06 7 &
/ 3..
6 6 5 9 5
1 & , 5
6 I & &
: / v
6 6
5 7
6 5
) I, 1
, O , 5
, & G
G,

52



&
/
, &
&
/
5
I 4 &
&
6
/
6
Q*
76
&
&

%I

5
_# .70
5
1
6
/
/
/ 1
I )
5
5
/
1
6
"
6
3-# Q
& 5
0

/5

/5 65
65



6> / > & (
A> .3 %5
, % /(7 1
(-EE*
R 9 6( 6 &
! / s
( 1 &
N ( /I, &
$ ( 1 K S
S &
: ( & K [/
S K
C /D
C>¢% !'"$ ,"&/ (
& &
) , 1 ., &
- K
E>/$)B+ $2 3/5
-4 & 5,
/ : 5 6
F>/ $2 1$) B
% "$ ( & 6 ,
$$"$ (& 9
o] C & D
o] , | C & &
(% (, / : / C,
DS , | 5
G> "$&)+ $2 H+(('
- B/
H & :1-EEE 3... 6/
7 4 /<
/ , , &
! , , ,4 8 %
0, /

> , 4 | %

1

%7:

7"R4



8 /
I (
I , (%
8 , /
I, (--3# + 53 7
I ( 5 #
( %7: 4 , %7: 3.- <
%
>
How many homebased workers are there?
It is estimated that there are about 100 million homebased
workers globally, of which about 50 million live in South Asia.
_ There were | HBW in Bl il (2009-10)
Therewere HBW in @ (2011-12)
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